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7. The curve =/
Tk A

dt concave up on the interval:

8
@

(correct)

) (1
(b) (%oo N Cuyve u? ‘5>O
((3 EO O\f)\/g) A‘D S ){L_k.\ 3/L —*\(L
(e) (0,1) d x “f;r‘\{“: xﬂ_x
okti) . = hE -2 A \(,
x> "fx—%ﬁ:—%x*}%_
M el 3 SR, X — (_]_
i A NE
5 g | T = (J‘?w)
e \’)(’\T
T = o -
1+ (1 - 3z)?
®
© 1—3((11—_ 19;))2 & 1y ﬁ _ ( 5)
ans | +Qk 3%}

(e) )

|
UJ
-
f
S
s




221, Math 102, Major Exam I Page 5 of 9 MASTER
e L 3
9. B l(;) L
1=

(a') = % (correct)

(6) 2

29 See. goo\C/ $ES

@ -2 QK‘\W{\EL L, Nooik

CE g‘(& i
4 ) -—X*—*GK Q\[QY’ EQ/%)Y\:G

10. /05(:1: - V25 —2?)dx =

(a) » _;12571- (correct)

_95m J =
0 2 425 X

25 — 257 [
(c) 2 ' 4,

25 — 507 : : WR}Q
o S ﬁ P

50 + G
(e) L

By Y,
t{(\'(@) =¢510

-




221, Math 102, Major Exam I Page 6 of 9 MASTER
3
11. / Vad+22dx =
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12. If U and L are upper and lower sums for f(z) = 2%, 0 < z < 2, with n = 4 then
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9 L.' Xx?'—@ f:[ ¥ qu

jsV]

T

—— P
o o
S S S h —_ "

P Ve Gel 2
—
<P
|l
o
<y
G
+
P
\‘i]_/
("_"\.
B
+
G
Nl
+
/"Uj
N

P
@




221, Math 102, Major Exam I Page 7 of 9 MASTER

13. Find the number b such that the line y = b divides the region bounded by the curves
y = z? and y = 4 into two equal halves.
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14. Find the area of the region enclosed by the curves
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15. Find the volume of the solid obtained by rotating the reglon bounded by the curves

y=z’and = y?

about the line y = 1.
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16. The volume cf the solid obtained by rotating the region bounded by the curves

y=lhz y=-landy=1,

about z = —1 is given by
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17. The volume of the solid obtained by rotating the region bounded by the curves
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